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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udteneff advem 3Ud wyA U W AR SAfarEa: fod |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) weft oA wA e € |

All the questions are compulsory.
3) U U9 W IW 4 T IW-Yieaew ¥ @ o |

Write the answer to each question in the given answer-book only.
4) TR ugAt ° saite @ug g, 39 9t & IR uh Wy § o)

For questions having more than one part the answers to those parts are to
be written together in continuity.
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5) uvA A o fEe 9 RSl wuR | foredt yeRr <t 3 / o / ferienyme g W R s & wem
H EE |
If there is any error / difference / contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid.

6) @uUE T W& 3R TS T

H 1-13 1

E] 14 -24 2

| 25-27 3

] 28-30 4
Section Q. Nos. Marks per

question

A 1-13 1

B 14 -24 2

C 25-27 3

D 28 -30 4

7) weA R 14,27, 28, 29 @ 30 | 3traies faekeu 2
Question Nos. 14, 27, 28, 29 and 30 have internal choices.
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Lue - A
SECTION - A

1) i i uRafia fikm) [1]
Define Agamospermy.

2) uar U fora awa A I ok wwon Hieg(Rrew) | vt I g E? [1]
Deficiency of whichrelement in the soil causes Dieback disease of Lemon(Citrus).

3) iR @ TR TTufsRaTeTt il SEIRA Hidare T=area &1 & feRau ? [1]
Write class of enzyme which catalyses the oxidation and reduction reactions.

4) ureu g @ A foRan S e1e] % el i wufga wA H e foran e 2 [1]
Write the name of plant hormone which is used to store potato tubers.

5) 3\ deie ot M faled e gr e, fi v afafefa a et sfafefust srem it
aug ® Ut i A1 Hehdt 21 [1]
Write the name of the technique to make lacs of copies of D.N.A. from a single
copy in very limited time.
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6) =T i uRiya FfE) [1]
Define biogas.

7) ®RR % oernt fFmior h ufshan B Iew A Arelt wiER R S 22 [1]
Which blood corpuscles are necessary for starting the process of blood clotting.

8) gfte uewt o 3u fag o A fTRed STaT vigh A WeTeht Gt STUTE Bl 8 7 [1]
Name the point on Retina where both rods and cones-are absent.

9) HeheahTeH URFEATl St AT A & foTu Tre i ot 99R A a1e g 1 A falan) 1]
Write the name of hormone which prepares-the human body to face adverse
conditions.

10) = o vem el Fyeeh S hHgeldl @ ? [1]
In humans what is the first cervical vertebra called.

11) “Auur” = TAHTST ? [1]
Explain "Implantation".
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12) Tk § IufRrd SR S HIOA S Hgeltdl 2 ? [1]

What is the measurement of haemoglobin present in the blood called.

13) TH. 3R, 3E. H G AW feram) [1]
Write the full form of M.R.I.

Qe -9
SECTION - B

14) i) FErog@E FEaE(DPD), Wt g (OP) 3 #hifag@ (TP) § Ty feiae ?

i) Uk v R A OP @ DPD qea 88 ot arsal 2
[1+1=2]

HAUAT
) e fE(y,), R EE(y,) 3 e ey ) # wee ot

i)  oreiureTE et @ for oot et aer fawa —35 @R qen g fawa -5 SR 2 36k
St fawa it o iR

1)  Write the relation between Diffusion Pressure Deficit(DPD), Osmotic
Pressure(OP), and Turgor Pressure(TP).

1)) "OP and DPD are equivalent in a flaccid cell". Give reason.
OR

1)  Write the relation between Water Potential(y, ), Osmotic Potential(y, ) and
Pressure Potential(wp).

1) Calculate water potential of solution which is enclosed in a semi permeable
membrane whose Osmotic Potential is —35 bar and Pressure Potential is —5
bar.
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15) i)  uerH Sufeer shifaes deal o 8 SarEd |

i) ToRm el <Y = % FAeTUT WY SHRY hicTeRistl § Uehe 21 2l
[1+1=2]

1)  Name the critical elements present in soil.

1) Deficiency symptoms of which elements appear first in apical buds.

16) ‘ot Sfremupsistt &1 wEw Ateeh % ®9 ° M 13 8 54wt gian 27| 3 Run ST g0 39 HAA H
gfee i) [1+1=2]

"A Bacteriophage is more important vector in-comparison to M13". Justify this
statement by giving two reasons.

17) uhEeiiEm e SiA ST sl T ? 2]

Explain Agrobacterium mediated gene transfer.

18) WWT A ® UTgy i ATH a1 9T B ® 378 "afa suntt urgw wm 21 e i gafea it -

[Vax4=2]
T A W B
A, TRt 0) gk I Hfcrhr
B. e i) Y@ T ke
C. i iif) YT
D. i iv) =
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Part A contains the plant name and Part B contains useful plant part related to
them. Match the following.

Part A Part B
A. Groundnut )  dry flower buds
B. Coconut 1) dried Rhizomes
C. Clove ) Endosperm
D. Turmeric v)  Seed

19) e Ao 91 ARHSEIRET ol TR Sa3eieh & &9 -H SH &id g ? TuEmgd| 2]
How Bluegreen algae or Cyanobacteria works-as biofertilizer? Explain.

20) vaE Hael S Wl qHITS | [1+1=2]
Explain two respiratory disorders.

21) gmiA AW ffan S S ogfeam & ultada ot SRa wan 2 2 wud ogfeam & afau 2a
W 3T THTE T TS| [1+1=2]
Write the name of hormone which induces the development of corpus luteum.
Explain the effect produced due to the damage of corpus luteum.

22) WHAYERI] thi TIEAT 1 FUH it [2]
Describe the structure of human sperm.
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23) = o 9 g o S Safiada & TER S auesa| [1+1=2]

24)

) ATGCATGC — ACGCATGC
i) ATGCATGC — ATGAATGC
Explain the type of gene mutation in each of the following
) ATGCATGC — ACGCATGC

i) ATGCATGC — ATGAATGC

srfiefaferet I o WTerres 1 AW fARau| &0 A % S Feu g g=E % 9 U™ Jqrgu|
[1+2+12=2]

Name the pathogen of Amoebic dysentery. Mention its two symptoms and two
preventive measures.

©ls - 4"
SECTION - C

25) Y SHiSTUg H AT H s quia Rl ? [2+1=3]

Describe the structure of Anatropous ovule with diagram.

26) foEeR ST 1 TRATNG R HUSH & Tt HeuT TEINT ht <Ie aiE gt |auesa |

[1+1+1=3]

Define dihybrid cross. Explain Mendel's dihybrid cross experiment by checker
board.
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27) uiEa fRan it Afehant St | R o SR W AHTSA | AfhEUT St Sl 9IA STeT AR

o= ==z [2+1=3]
Freran

T1edt § SIETHRT o TUITTRE Ul shi THENEE | UTEY hilvTeheTt H Siet Haei o Y98 WrT i o
E e

Explain the mode of enzyme action on the basis of lowering of Activation energy.
Draw a labelled diagram to show activation energy.

OR

Explain Apoplast pathway of water in plants. Draw a diagram to show major paths
of water flow in plant cells.

©us - g

SECTION - D

28) i) TRV WRERINCIERT fFR wgd 22
i) AT JeRTIT WRRRINGIERIT STTThT Sl TuEmsa|
iil) <IShI TSI WEHINGIIERTUT SITHTRaT <ht S9TH aTel TG st sTgal|
[1+2+1=4]
JAYT
) wehe § TR o e e
i) e § R % SRR & R W e
iii) ORI % AR 7% 3R ATl S TEER siReeT e o S|
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29)

10
1)  What is photophosphorylation.

i)  Explain cyclic photophosphorylation reaction.

i) Draw a line diagram to show the reactions of cyclic photophosphorylation.
OR

1)  Write the site of glycolysis in living.

1)  Explain the various steps of phosphorylation of glucose in glycolysis.

i) Draw a line diagram of biochemical reactions upto phosphorylation of glucose.

TS & YO T ATHifehd. fors SATSe)
AT | ure <ht feRentate anzmen)
[1+3=4]
Ferat
e & ScdeiH o= ol ATHIfeha 1 S-S50
T o g7 it i wteer e @t ememsu

Draw a labelled diagram of human digestive system.
Explain the mechanism of digestion in stomach.

OR
Draw a labelled diagram of human excretory system.

Explain the mechanism of ultrafiltration in Urine formation.
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30) i) WA % AfwTSH H1 AR = SIS
i) wfETSH F FUR Rl
i) vAfErsF & 3w foRaR|
YT
) TSR G AR o S|
i) ST i T TR
i) TSI IR & 3w foiReR)
1)  Draw alabelled diagram of human brain.
i)  Describe Cerebrum.
)  Write two functions of Cerebrum.
OR
1)  Draw a labelled diagram of male reproductive system.
i)  Explain structure of Testis.
)  Write two functions of Sertoli cells.
¢ ¢
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